INSTRUCTIONS

FEMCO, ne

WEATHERBRAKE
2175

FITS

MF 1533,1540, 1635,
1643, 1648,1652, 1655, 1660
Challenger: MT 265B, MT 275B

s i
: B e

Genera | Offices

1132 W. 1ST STREET
McPherson, KS 67460
Phone: (620) 241-3513

Web: www.femcomfg.com Form No. 286324500 / 12-2005



IMPORTANT

READ AND UNDERSTAND ALL INSTRUCTIONS BEFORE
MOUNTING WEATHER BRAKE. DO NOT TIGHTEN
HARDWARE UNTIL INSTRUCTED TO DO SO

YOKE BRACE
1. Lift hood and remove bolt (A)
Attach yoke brace (B) using bolt removed

Yoke brace is to be parallel with tractor. Tighten bolt.

> @ N

Repeat procedure for the other side.

YOKE BRACKET

1. Attach yoke bracket (A) to yoke braces using two (2)
1/4” x 3/4” bolts and nuts.

2. Yoke bracket is to be 90° to yoke braces. Tighten
bolts.




YOKE BRACKET TAB

1. Attach yoke bracket tab (A) to yoke bracket so holes

3/8” from top edge point up, using two (2) 1/4” x 3/4”
bolts and nuts.

2. Tighten bolts.

DOOR POST HOLE

1. Drill a 9/32” diameter hole into foot rest at location (A)

DOOR POST

1. Attach door post (A) to foot rest using one (1) 1/4” x
1” bolt, fender washer, and nut.




MOTOR COVER

1. Arrange motor cover (A) over hood of tractor.

2. Slide 3” hem of motor cover down over top of door
post.

SIDE ARM

Slide side am (A) into side 3” hem of motor cover.

2. Attach side arm to yoke using one (1) 3/8” x a1” bolt
and nut. Head of bolt up, nut down

3. Attach side arm bracket (B) to side arm using two (2)
1/4” x 3/4” bolts and nuts. NOTE: Door post is to be
straight up and down, yoke and side arm parallel
to tractor. Make adjustments if necessary.

4. Drill a 9/32” diameter hole in fender and attach side
arm bracket using one (1) 1/4” x 1” bolts, fender
washer and nut.

5. Tighten bolts.

YOKE

Insert yoke (A) into top 3” hem of motor cover.

Attach yoke to yoke bracket using two (2) 1/4” x 3/4”
bolts and nuts.

Attach end of yoke to door post using one (1) 1/4” x 1”
bolt and nut. Bolt head inside, nut outside.




DUAL LOCK® is a registered trademark of 3M Co.

Cut the plastic Dual Lock into 2” lengths.

2. The surface must be cleaned with a mild detergent to
assure proper application of Dual Lock strips.

3. Apply cut Dual Lock to all Dual Lock sewn to the mo-
tor cover.

4. Arrange the motor cover to the tractor. Peel the back-
ing from the Dual Lock and apply to the tractor. Re-
peat this procedure for all Dual Lock

TIE STRAPS

IMPORTANT

CLOTH STRAPS ARE NOT TO BE ATTACHED TO ANY
MOVING, ROTATING, OR HEAT GENERATING POINTS
OF TRACTOR. ANY EXCESS CLOTH STRAP IS TO BE

CUT OFF.

1. Thread cloth strap through grommets at bottom of
motor cover and tie.

2. Route cloth straps to other side or to a point on tractor

and tie.
1‘h
- WINDSHIELD ASSEMBLY
1. Attach left and right window frames using tow (2) #10
x 1/2” bolts and nuts.
Slide glass in channel of windshield frame.
' 3. Attach flat strip and angle strip to windshield frame
& ] P RN Pl using two (2) #10 x 1/2” bolts and nuts in second
o -3 holes only.
FLAT #° "4 4. TIGHTEN BOLTS.
STRAP - N

Ty N

N STRAP



WINSHIELD ATTACHMENT

Remove nut from yoke and door post and attach as-
sembled windshield.

Attach assembled windshield to outside of yoke with
nut removed and 1/4” x 1” bolt and nut to other side of
windshield

Tighten all bolts.

DOORS

Locate holes in door post and cut holes in fabric.
Hold door (A) to door post and bottom of windshield.

Mark location of holes in door post to door

P 0D =

Cut 5/8” slots next to wire frame of door and attach to
door post using two (4) #10 x 3/4” bolts, clips, and
nuts.

o

Tie door flap (B) to motor cover.
TIGHTEN ALL BOLTS.

LEFT WINDOW

Mark location of holes in windshield to left window (A).

Cut 5/8” slots next to wire frame of left window and at-
tach to windshield using two (2) #10 x 3/4 bolts and
nuts.

At location (B) cut 5/8” slots inside window and top of
door and attach using one (1) #10 x 3/4” bolt, nut &
clip.

Tighten bolts.




RIGHT WINDOW
Right window is to be bent to conform to side arm by
placing on a table and bending by hand.

Using same procedure as left window, attach right win-
dow to windshield and side arm using three (3) #10 x
3/4” bolts, clips and nuts.

Tighten bolts.

LEFT WINDOW

Mark location of holes in windshield to left window (A).

Cut 5/8” slots next to wire frame of left window and at-
tach to windshield using two (2) #10 x 3/4 bolts and
nuts.

About 6” from back of left window at location (B) cut
5/8” slots in left window and door and attach using one
(1) #10 x 3/4” bolt, nut & clip.

Tighten bolts.

DOOR LATCH

Assemble door latches as shown using two (2) 1/4” x
3/4” bolts and nuts.

Position under bottom rear of door.

Door is to be set firmly in loop of door latch. Change
position up or down with adjustment holes if necessary.

Mark location for one (1) of the two (2) holes and drill
one (1) 9/32” diameter hole.

Attach to fender using one (1) 1/4” x 1” bolt and nut.
Tighten all bolts.



NOTES





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




